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‘Write down the equation of the graph sketched in Figure 2, together with the value of the
corresponding constan. &)
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9. The diagram shows a sketch of the graph of y = f(x). The graph passes through the points (-4, 0)
and (6, 0) and has a maximum point at (1, 3).
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graphs, using a separate st of axes for cach graph. In each case, you should
indicate the coordinates of the stationary point and the coordinates of the points of intersection of
the graph with the x-axis.

(@ y=2fx &)
(b) y=f» &)
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8.

The diagram shows a sketch of the graph of y = f(x). The graph has a maximum point at (3, 4) and
intersects the x-axis at the points (-1, 0) and (7, 0) and the y-axis at the point (0, 2).
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Sketch the graph of y = f(x + 2), indicating the coordinates of the stationary point and the
coordinates of the points of intersection of the graph with the x-axis. 31

Sketch the graph of y = f(x) + 3, indicating the coordinates of the stationary point and the
coordinates of the point of intersection of the graph with the y-axis. 31
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9.

The diagram shows a sketch of the graph of y = f(x). The graph passes through the points (-2, 0)
and (6, 0) and has a minimum point at (2, -3).
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Sketch the following graphs, using a separate set of axes for each graph. In each case, you should
indicate the coordinates of the stationary point and the coordinates of the points of intersection of

the graph with the x-axis.
(@) y=fx-3),
(b) y==2f(0.
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The diagram shows a sketch of the graph of y = f(x). The graph passes through the points (—6, 0)
and (2, 0), and has a minimum point at (-2, —4).
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Sketch the following graphs, using a separate set of axes for each graph. In each case, you should
indicate the coordinates of the stationary point and the coordinates of the points of intersection of
the graph with the x-axis.

(@) y=fG+1) 131

(b)) y=;jv [3]
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Figure 1 shows a sketch of the graph of y = £(x). The graph has 2 maximum point at (2, 5) and
intersects the x-axis at the points (-2, 0) and (6,0).
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Figure 1
(@) Sketch the graph of (;) indicating the coordinates of the siationary point and the
coondinates of th poinis o nersection ofthe graph withhe xaxs 51

(b)Figure 2 shows a sketch of the graph having one of the following equations with an
appropriate value of either p.q or 7.

+p), wherep i a constant
)+ g, where i a constant
¥=1j0), where s a constant
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Figure 2




